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AII answers should be written on the ANSWER SHEET.
FHER 4453

Section A — each question carries 4 marks

1) TEHEZ/RREREL ?

How many line segments are there in the figure below?
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Question 1

2) £2FlfE - B e AR = AP EEEE 1P ITECR  SKEPHYES
In the figure, the area of each equilateral triangle formed by three neighboring points is
1cm?. Find the area of the figure.
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Question 2

3) K71+57+62+38+43+29J{H -
Find the value of 71+57 +62+38+43+29.

4) k15— (79-85)+ TAHI{H -
Find the value of 15—(79—-85)+74.

5) EFI—IREZFEN 12 5f - H—(f 18 RKEAVHE+ » WRAFEEIE 2 R 305 1 E
AR DES ©
It is known that 1 foot equal 12 inches. A 18-foot long rope is cut into segments 2 feet 3
inches long. How many segments are cut in this way?

ARV EE - Bt ESERE B HEERM - WHER /R T BEG 8 SRt RS RS RVNE -
EEALIRAFRT - U’%E%EEEM\%E%E?%REY PREFAIEERASN - IRFRIEE AL - SEERBEADRIAGS TR 08 -

Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. You may use square root to represent the answer which is in the simplest form.

Unless otherwise stated, no need to write down any unit. Marks will NOT be given for incorrect unit.
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All answers should be written on the ANSWER SHEET.

6)

7)

8)

—PUNIRFS A 3 AN EFA 17 A B=FF 63 A - i EREE=
g MR 2 BB A B =R A BAE S 2

A group of children form 3 queues. The first queue has 34 children, the second queue has
17 students, the third queue has 63 children. How many children, at least, are needed to
move from the third queue to other queues to make the number of children in each queue
equal?

ERIFEEAEAGA 12 (ETERL - ZAEeE 2/ RiEE 2

It is known that a right prism has 12 vertices, how many edges does that prism has?

NIHTEE—SEE 3.4 Ty AR - S EATRS 1ot S Al 2 /& [iA
Z/ VAR EBHE LT

Charles wishes to buy a $3.4 pen without changes. How many ways can he pay for the
product if he has a lot of each $1, 50 cents and 20 cents coin?

~ FiE5E ~
~ End of section A ~
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Section B — each question carries 5 marks

9)

10)

11)

12)

K18+ 27-36-45-54-63+72+81H9Y1H -
Find the value of 18+ 27 -36—-45—-54-63+72+81.

3K (32+33+34+...+46)—(26+ 27 +28+...+40){H -
Find the value of (32+33+34+...+46)—(26+27+28+...+40).

IIMERVNEIEE T4 FEE - =/MELL/NEZ 26 (5 £ > M/IMEFZ/DIFRERE ?
William and David has a total of 74 bananas. David has 26 more bananas than William.
How many bananas does David have?

WA 15 [EVERE/NERM 28 #7748 » [HIHIFH 12 oA RHE ey S AG TR Bl i —(EE EE
2 ? (N a] DAJERR NER T3 BRI E 28/ NER T - A m] DA T 8857 - )

A pyramid is formed by using 15 clay balls and 28 bamboo sticks. If the base of the
pyramid is a polygon. How many sides does the polygon have?

(Clay balls cannot be broken down as several balls, and the sticks cannot be bent)
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AII answers should be written on the ANSWER SHEET.

13)

14)

15)

16)

—{E/NHA 8 fir[FIEE - B FE A EMHEs (I FEER—% - M HERERA
AWNOLELE - —HLIIR L/ DIRIRR 2

A group contains 8 students and each student needs to take a photo with the others. If
there are only 2 people in each photo, how many photos in total will be taken in this way?

S ffE > EHEFERGETA A~ B~ CHI D & 88 KEFEAF
A+B+CHIH -

In the attached cryptarithm, each of A, B, C, and D each represents a one-digit integer.
Find the value of A+B+C.
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Question 14

/NEFTHEE NP 2 IR IEFIIRE =R &EVE 100 rEfVER - HRMECEEEY
‘A RS, 40 7> - AEMESS RE BB N EERHE 7

Starting from 2p.m., Johnny watches three movies each 100 minute long. If Johnny takes
a 40-minute break after watching each movie, what is the time after he finished all the
movie. (Express your answer in terms of XX:XX pm)

K (2016 x1+1916x 2 + 2716 x 3) + (679x 12 + 3832 + 2016) FH -
Find the value of (2016x1+1916x 2+ 2716x3) + (679x12 + 3832 + 2016).

~ LER5E ~
~ End of section B ~

ARV EE - Bt ESERE B HEERM - WHER /R T BEG 8 SRt RS RS RVNE -
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Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. You may use square root to represent the answer which is in the simplest form.
Unless otherwise stated, no need to write down any unit. Marks will NOT be given for incorrect unit.



All answers should be written on the ANSWER SHEET.
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Section C — each question carries 7 marks

17) 235lslE > BE/NESPRYERE 1 PGB sCKIE 228l Ay -

18)

19)

In the figure, the area of the each smallest square is 1 unit square. Find the area of the
shaded region.

%17
Question 17

/INGFA 5 TT ~ 2 JoM L TTHYBERE S 4 B o [F] 7S Eehs RTAH R DR [EIY I (E 2
(Gt : O REHELER)

Christy has some $5, $2 and $1 coin. She has 4 coins of each type. How many different
face values can she form using those coins?

25 flE - CAIE R R A A - B~ CHI D B Ry—{ir#8y - SKIUfr# ABCD Y
8 -

In the attached cryptarithm, each of A, B, C, and D each represents a one-digit integer.
Find the value of the 4-digit number ABCD.
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Question 19
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All answers should be written on the ANSWER SHEET.

20) 216 flE[EIBR A —(HEEESHYER - HeraVITEEMHTE o EHH—BILHTEMRIY R R
HSHYERF AR - 55 M/ VERE S DICT BE CRa AN B BRH 2 2
There are 216 balls. One of the balls is lighter than the others and the others carry equal
weights. By using only a balance, at least how many times are needed to find the lighter
ball?

- 25 ~
~ End of Paper ~
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Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. You may use square root to represent the answer which is in the simplest form.

Unless otherwise stated, no need to write down any unit. Marks will NOT be given for incorrect unit.



